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Chapter 4

 REACTIONS IN 
AQUEOUS SOLUTION

James Hill
California State University, Sacramento

with contributions by Todd Austell

Give It Some Thought
Clicker Questions
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a.

A.   H2O(l)
B.   K+(aq) and H2O(l)
C.   CN-(aq)
D.   K+(aq) and CN-(aq)
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b.

A.   H2O(l)
B.   Na+(aq) and H2O(l)
C.   ClO4-(aq)
D.   Na+(aq) and ClO4-(aq)
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A.  CH3OH(aq)
B.  NaOH(aq)
C.  CH3COOH(aq)
D.  Cannot determine from Figure 4.2
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A.  Ag+(aq) and Cl-(aq)
B.   NO3-(aq) and Cl-(aq)
C.   Na+(aq) and NO3-(aq)
D.   No spectator ions are involved
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A. 0
B. 1
C. 2
D. 3
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A.  Al(OH)3 is not basic in water.
B.  Al(OH)3 is insoluble in water.
C.  Al(OH)3 is a strong acid in water, not basic.
D.  Al(OH)3 is a weak acid in water, not basic.  
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A. SO2(g)
B.  H2(g)
C.  CO2(g)
D.  H2S(g)
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a.

A.+1
B.-1
C.-2
D.-3
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b.

A.+6
B.+5
C.+4
D.-1
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a.

A. Yes
B. No
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b.

A. Yes
B. No
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A. 21.0 g of NaF dissolved in water to make 500 
mL of solution

B. 10.5 g of NaF dissolved in water to make 100 
mL of solution
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A. Concentration (molarity) remains the same.
B.The new concentration is 0.25 M. 
C.The new concentration is 1.00 M.
D.The new concentration is 2.50 M.


